MATH 421.08. ADVANCED CALCULUS FOR
ENGINEERING. SPRING 2014. QUIZ 2

1. (90 points)
a) Find given Laplace transforms
L{3tsin(2t)};
L{Ut —1)(t—1)%}.
L{U(t - 1)t}

b) Find given inverse Laplace transform
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2 MATH 421.08. ADVANCED CALCULUS FOR ENGINEERING. SPRING 2014. QUIZ 2

2. (60 points) Solve given initial-value problem using the Laplace transform
y' — 4y + 5y =€"y(0) =-1,4(0) = 2;
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MATH 421.08. ADVANCED CALCULUS FOR ENGINEERING. SPRING 2014. QUIZ 2 3

3. (50 points) Solve given integral equation
y(t) = et + QfOt sin(t — 7)y(7)dr.
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MATH 421.03 ADVANCED CALCULUS FOR
ENGINEERING. SPRING 2014. QUIZ 2

1. (90 points)
a) Find given Laplace transforms
L{2t cos(2t)};
L{U(t — 7/2)sin(t — 7/2)};
L{U(t — 1)t?}.
b) Find given inverse Laplace transform
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2 MATH 421.03 ADVANCED CALCULUS FOR ENGINEERING. SPRING 2014. QUIZ 2

2. (60 points) Solve given initial-value problems using the Laplace transform
v = 4 + 3y = 2,4(0) =2.4/(0) = -
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MATH 421.03 ADVANCED CALCULUS FOR ENGINEERING. SPRING 2014. QUIZ 2 3

3. (50 points) Solve given integral equation VL

y'(t) = et + [y y(r)dr,y(0) = 1. V- 4 X
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